FTHREERNERERASRE NXRERAE

1. IRADER
s SREEE 2318058
X 5 FRRE RAFEED) | (FEICHT B wo=
NGRS 4,550,000 4 500,000 H A 50,000 H
g 4,550,000 4,500,000 H A 50,000 M
2. ZHOEL
R =2 18w
E FHERE (3t %4E) (PR m =
HHSEEE (RA)
$%§ 4,500,000 4,500,000 Fq 0 Fq (1’500’00(”:3)(3%'3%)7
E=HE 50,000 0 H 50,000 F GEFESRE. RSEKE
£ 4,550,000 4,500,000 H 50,000 H




sTH2EEHR/MEXRBERASRE NWXFEE(R)

Y
w0
a0

o

1. IRADER
X & ¥ 5 % HEEEERS)
NI 5,050,000 M
B 5,050,000 M
2. XHDER
X 4 ¥ &5 & HE (BREAERS)
HEMREEE
St 5,000,000 F (150751 x 3&B£+500,000/ x 1Ef<£)
THE 50,000 M [HERE. IREAE

H 5,050,000 M




